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Instructions -
i1 All questons are compuisory. ’
11} This question paper has nwo parts ‘A’and ‘B’ _
i) Part A’ contains 20 multiple choice type questions of 1 mark each
that have to be marked on OMR Answer Sheet.
iv)  After giving answer on OMR Answer Sheet, do not cut it and do not
use eraser, whitener etc.
v} Part ‘B’ contains detailed answer type questions of 50 marks.
vi} Total S questions are there in this part.
Vi) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.
viii) Marks allotted to each question are mentioned a it.
ix) Start from the first question and go up to the estion. Do not
waste vour uime on the question you cannot s
X) If you need place for rough work, do it o Qﬁage of your answer-
book and cross ( x ) the page. Do n any solution on that
page. 6
xi) Do not rub off the lines const &n the solution a question of
construction. Do write the sre&onstmctjon in brief, if asked.
xi1i) Draw neat and correct ﬁguO solution of a question wherever it

is necessarv, otherwise o absence the solution will be treated

incomplete and wron
- A

Part-A

é\(a@ﬁwﬁum)

tiple Choice Type Questions )
1. a&ﬁa'éﬁagégPL_ F1 qyHer SRR Feffed § ¥ frg qoee wm % i
xS

TS B ?

(A) 1 (B) &

(C) 3 (D) 4 ' ' 1
1. The decimal expansion of the rational number 22}:5 will terminate after

which number of places of decimal ?

AV (B)

() 3 (D) 4 1
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5 (-3, 5) ® y-71 9 38 @R

A -3 B 2~

€) 5 (D) | W FIE Tl 1
The distance of the point (- 3, 5) from y-axis will be

(A) -3 (B) 2

< S (D) nonc of these 1

WA 144 T A OAETS ¥ S oAU @ HTAl HT ATET @

() 5 | D) 6 1
The sum of powers of prime factors of the factorizatioc&me number 144

will be N
(A) 3 - B) 4° Q
(C) S (D) 6 06 1

f&m mar & ToWo (132, 288) = 3168,@0 (132, 288 ) BT

(A) 288 ( 32~
(C) 48 % 12 1
Given that LCM of ( 132, 28 168, then HCF of ( 132, 288 ) will be
(A) 288 . B) 132 -~
(C) 48 . @ (D) 12 1
Ifq feama &123«:-}-!72:0 & {ol S]&R &€, Tt m T T I
A) 4 B 7
© 9 & D) 12 1
If the @of the quadratic equation 3x*-12x+m=0 are equal, the
value of m will be
(A) 4 (B) 7
(€ 9 (D) A 22~ 1
HHIEOT 5x2 - 3x+2=0 % YeAl 1 AT &M \

3 ' B -3
(&) - (B) :

2 D) -2
© 2 D) - 1

03000/40 ' ‘ Turn over


Hindustanknowledge.com


822(DX)

6.

4

The sum of the roots of the equation 5x° - 3x+2=0 will be

3 3
a) = -3
- B) -ge
o 2 _2 1
(€) 5\./' (D) c

I FHEOT x+2y=70 IR 2x4%y=35 H F1§ 761 F&l & I 7. F AH

1 1
B 2 B 3

©) 2 | o & {Q 1

The simultaneous equations x+2§=70 and 2x+.y= 3°ave no solution
if & will be

1 1
o el
€ 2 \4/6 1
%*ﬁ'aﬁ A(-4,2) «dr B(S,G] gt {EETE H A EF«:'

a

P(8,4)%lawmﬁm o

(A) -8 gs) -4

© 2/ * D) 4 1
. / . : . .

Point Pk%, 4) 1S the@omt of the line segment joining the points

A(-4, 2} and B(S@ he value of a will be .

(a) 6\) B) -4

(C] 2 (D) 4 1
ABC ¥ MR BC % WWMRK @@ PQ G@ien mar &

et S

1:3,dl APTYT PBHT U &
A

(A) B) - 1:3

1:4
(€ 1:2 o 2:3 1
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In the given figure base BC||PQ is drawn in AABC . If PO: BC=1: 3, the
ratio of APand PB will be R
P Q
B c
(A) 1:4 (B) 1.3
C) 1:2 D) 2.3 1
10. B ABC ¥ 9K AB =643 @I, AC = 12 ¥ T4 BC = 6 , @ 2B
(A) 120° (B] 90°
o600 g 1
10. In AABC if AB =643 cm, AC = 12 cm and % cm, then measure of
ZB will be
(A) 120° B) 98
(C) 60° (D} 1
11. frwﬁgﬁ%mw@:zs%l Pt & W emed &
o 5o E o
A) 5:4 . Q B) ¢4 .
C) 3:5 - (D) 16:9 1
11. Areas of two.similar les are in the ratio 16 : 25. The ratio of
corresponding sides triangles will be
(&) 5:4 (B) 4:5
(C) 38:5 (D) 16:9 1
12. Ta3 % AB ‘\& AC=6WHl, BD=2 99l &R cD = 4 ¥ & £BAD 3R
ZCAD I
A
3 G
B amD adw ©
(A) 2:4 B) 1:1
(C) 3:6 (D) 6:3 ]

[ Turs over
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127 In the figure, AB= 3 cm, AC= 6 cm, BD = 2 cm and CD = 4 em, The rayjg
of ZBAD and ZCAD will be

A
3 em 6 cm
B 2ecm Db 4cm ¢ &
A) 2:4 B) 1:1 o
(C) 36 (D) 6:3 <o’ 1
13. S031° o o 6@
cos 59°

N4
(A) (B)
ne @w\g

(€)

13. The value of sin31° will b$:

cos 59°
(A) -1 &@ B o
© 6\)6 D) 2 | 1
14. ﬁaﬁ,wﬁiﬁAmﬁ%@wwwﬁﬁwm |

A P

/6(f<

45

O ' 5 o]
(A) 30°, 45° ~ (B) 45° 30°
(C) 45°, 60° (D) T ¥ HE T g
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15.

15.

16.

16.

17.
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In the figure, the angles of depressions of point O as scen from points

Aand Pare
A P

45
O 5 0
(A) 30°,45° (B) 45°, 30°

(C) 45°, 60° (D) - none of these
uﬁ'@ﬁmqﬁﬁrsﬁtﬂwﬁ@mmﬁwﬁw%ﬁﬁm
Bt

® 27@E @9@ |
(C) 4 AT (D) 1

If the circumference and the are c:rcle are numerically equal, the
radius of the circle will be

(A) 2 @rt/s‘- RER™ '% m units

(C) 4 units (D) 7 units. 1
& 3 urg & gAY ot x 8 x 2 Hl &, At fremeR 2 7 ®R F
¥ TR T € Tt & FET gt

(A) 18 - B) 12
(C) 16 6 D) 24 1

The di@& of a metallic solid cuboid are 9 m x 8 m x 2 m. It is

melted recast into cubes of dimension 2 m. Thus the number of
cubes so formed will be
(A) 18 . (B) 12 _
(C) 16 (D) 24 1
Pt aiftol s e &

it st 0-10 10-20 20-30 | 30-40 | 40-50

. 4 S 6 4 1

(A) 20 . (B) 20-5
(C) 215, _ _ (D) 22 ’
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17.

18.

18.

19.

19,

20.

20.

The mean of the following table will be :

r - '4 .
Class-interval 0-10 10-20 50-30 | 30-40 | "40-50 |
4 1
Frequency 4 5 6
(A) 20 (B) 205

(C) 21-5 (D) \fy o l
ﬁﬁ@ﬁ@mmmmmngsmlﬁﬁ.mm

ﬁ,ﬂ, . .

(A) 22 (B) 235

(C) 24 (D) 245 1
If the arithmetic mean and mode of the given da re 28 and
16 respectively, the median will be o .

() 22 (B) 235 <
€ 24.- - (D) 245 0’ | 1
et aReaRer seq o S5 @it g

=t e 1-3 3-5 7-9 9-11
TR 7 - 2 2 1
(A) 1-3 B) 3.8 @ s-7 (D) 7-9 1
The modal class of the followi quency distribution will be
Class-interval ’§ 3-5 5-7 79 | 9-11
Frequency 8 2 2 1
(A) 1-3 3\?} € 5-7 (D) 7-9 1
Frfifey et 42T w1 ivaw ot @

0-10 | 1020 | 20-30 | 30-40 | 40-50

4 5 13 20 8

(A) 40-50 (B) 30-40 (C) 2\0/-30 (D) 10-20 1

The median class of the following frequency distribution will be
Class-interval 0-10 10-20 | 20-30 | 30-40 40-50
Frequency 4 5 13 20 8

(A) 40-50 (B) 30-40 (C) 2030 (D) 10-20 ]

03000/40


Hindustanknowledge.com

Hindustanknowledge.com

Hindustanknowledge.com


vt @Ug Fifeg ¢

9

g g -
Part - B

( feregm swig wow )

( Detailed Answer Type Questions )

(o T i e /3 T et e &

(b) 3% tan(A+B)=1 3R tan(A-B)=

822(DX]

2

L o< A+B<90° @ AR B&

.

J3
T A i | & 2
() ﬁﬁﬁqﬁﬁmmwmﬁat%ﬁm@ﬂﬁﬂmﬁ
mmm%lwmmwmyﬁm 2
i A 0-10 | 10-20 30-40 | 40-50 | 50-60
TR 7 12 18 15 10 3

(0

(a)
(b)

(c)

If

eore =t et forg

fog 4 ¥ et o
(2,-3]%%

Do all the par

Provﬁ@ 3 is an irrational number.

of A and B.

A+B)=1 and tan(A-B)=

L
v3

(e) ﬁﬁaﬁ(l,-syﬁr(-(@ﬁﬁmﬁaﬁ%@mﬁx—wm

s fesmie e W
%.ﬁﬁag@%mm%m%
% (1,4)¢

2

2

2

, 0°< A+ B< 90°, find the values

2

Two cubes each of volume 64 em?® are joined end to end to form a

cuboid. Find the total surface area of the resulting cuboid. 2
_ (iJ/F'.nd the median from the following table : 5
Class-interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 7 12 18 15 10 3
[ Turn over
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. AT h\'
(e) Find the co-ordinates of the point du ided Iy

-
\56‘ément joining the points (1, - 5) and (- 4, D).

10 |
A-nxis to e lige

'.\‘

: . Mere A3 I8 the dinmeter of ,
(D\/lﬁnd the coordinates of the point A, where Ab

i wofl Bare (1, 4). 2
circle whose centre is | 2, - 3 ) and the coordinates (

Q-J-ﬁﬁfﬁﬁ'ﬂﬁaﬁﬂﬁm:

(a)

(b)

k T T T R RS 7w iR 2x + ky = 1 3 3x - Sy = 7 W

T A &1 ¢ q

ﬁrﬁﬂ%{ﬁaawﬂwvﬁé?waﬁw-qmﬁiﬁrﬁﬂﬂaﬂﬁw®
O

2x+3y-46=0

4
3x+35y-74=0

() 7-6 QHl T TH t@Eve Wifvr AR W 3 :Qﬂﬁ JrgiIRT Il fé-w@m
s A w6t A fafaw) Q 4
(d) i cosB:-%, W sinOcos0+tan? 0 E\I@WT ST 4
() ﬁwﬁrﬁﬁmﬁmwﬁ@fwagvaﬂm I faenfat &yt @
o 25 % 1
B IISIED 10-20 20-30 30-40 40-50
foentergt &t g I 6 10 5
0 Frefe R} e T PR - p
T AT | o 20-40 | 40-60 [ 60-80 | 80-100 | 100-120 | 120-1.10
‘AN 6 8 10 12 6 5 3
Do any fe parts :
(@) Find the value of k for which the equations 2x + ky = 1 nnd
3x -5y = 7 have a unique solution, | q
(b) Solve the following ‘Pair of cquations using  cross-multiplication
method :
2x+3y-46=0
3x+5Yy-74=0 4
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(©)  Draw a line segment of length 740 e nnd divide It in the ratio 32 4.

Write the measuren of both the two party, 4

() I conn - .' , ind the vatue of ainOcont v tan? o 4
W

{(') I"i|‘(| ll"" \'lllll(‘ |‘r .f' rI'HIII Ih(‘ f[llh]\\l‘lnp‘ Il"”l”"""v '“I'If' ” ;l:!. i” Il".

mean of marks obtained by the studenty

4
Marks obtained | 010 | 1020 | 2030 | a040 | 4060

No. of studonts O *_T- | (, o I ) |;[l | Ei- )
(0 Find the mode of the following data ; - & 4
Class interval | 0-20 | 20-40 | 40-60 | 6080 | 80100, @wn '-n'l- 40
Frequency G &8 10 12 o -l-r- B -'-5_
3, Fuafabaa witaor g @l ver @)k g o
%4.%::]]' %—-i—jr:’f 06 O

| averar

e i % a Sieh R}, o 3w slw HenStg e snan & ol ae T Bl e &,

W 3 e Q1 U SiE ﬁ‘l@mm i 0
3. Solve the fullnwing poir of (@ ons ;
3.2

Fa (

x Yy =11, @ )
OR

A fraction lx:u;bé when 1 is added to the numerator and it hecomes

% when tracted from its denominator. Find the fraction, 6

4. UH St 15 e ¥ oRT F WM R wwE &l ok W e ¥

vitd T AT FIT 300 TN WA FH WK B AOE Hl 450 ¥ fow Ao fe

W A S 5(3443) WY o
Agqar

nmwaz}wﬂdﬂnmmmﬂ?vﬂdmwﬂni 60" ¥ 1 WA & o R e
mwwaraarmaﬁmﬁ“%lﬂﬁmfﬁmh a0 ez ¥, @ fuw alfem fe
o A e 20(3 -1) e ¥ 6
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4. The height of a temple is 15 metre. From the top of the temple, the angle
of elevation of the top of a building on the opposite side of the road is 30°
and angle of depression of the foot of the building is 45°. Prove that the

height of the building is 5(3+v3) metre. 6
OR

From the top of a building, the angle of elevation of the top of a tower is

60°. From the top of the building, the angle of depression of foot of the
tower is 45°. If the height of the tower is 40 metre, then prove that the
height of the building is 20{~/§-—1] metre. o& 6

5. Uh 3 Th UF & AR & ¢ A = @ (e ¥ aEie W
AR &1 AR FG FT THYS T AH F7 ‘Wﬁ,ﬁ?%ﬁ

foroan &R e &1 ST T A 6 6
12 A, 16 Gt 3R 20 I =09 = 3 Tt wt fraeet & 3
el T ST ¥ | 79 3R ey et R 6

S. A solid is in the shape of § which is surmounted on a hemisphere of
same base radius. If rved surfaces of hemisphere and cone are
equal, find the ratio ius and height of the cone. ' 6

OR

A solid sph made by melting the three metallic solid spheres of
&m, 16 cm and 20 cm. Find the diameter of this solid

diamet.
sphere ' 6

822(DX) - 3,62,000

rl
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